Poligono Ugarte, 15
20720 Azkoitia T z
+34 943 851 643

‘B intza@intza.com LUBRICATION SYSTEMS

Piston distributors for
FLUID GREASE (NLGI 00-000)

General aspects

Suitable for use in single line central lubrication systems to inject
lubricant from an intermittent drive system pump.

The pump builds pressure up on the main line and feeds the
distributors that inject a given quantity of lubricant to the
lubrication points.

The lubricant flow rates for the various points are determined
through the doser nipple. The total demand for lubricant
(cm3/hour) can also be regulated through the frequency of
lubrication.

They operate reliably within a wide range of visicosities and
independent of the rate of pressure rise from the pump.

Two assembly types are provided:

-Single dispensers for manifold assembly (fig.1)

-Distributor blocks with 2-3-5 outlets (fig.2)

Operation

Initial position (Fig.3)
The piston unit is in resting position.

Doser Doser Lubrication The lubricant is on the side of the spring piston and the
/““" non-return unit blocks the way from the inlet hole inwards.
/
Dosage (Fig.4)
The pump builds pressure up and moves the piston expelling the
00@ °) lubricant through the outlet hole.
The non-return valve allows lubricant to flow to the lower piston
Doser Pressure chamber and blocks the way to the inner hole of the shaft guide.
filter The amount of dosed lubricant depends on the length of the
Single line circuit outlet nipple (it limits the stroke of the piston).
(Fig.1) End of cycle (Fig.5)
Dosers for manifold ) The pump stops turning and the spring moves the piston back to
assembl (Fig.2) e "
Y o its initial position.
Distributor block i
The pressure moves the non-return valve by:
-Opening the inner hole of the shaft guide and joining the
piston's lower chamber with the upper chamber.
O O -Blocking the inward access from the inlet.
Washer
\—= — = 1 1
° =L
- &
Manifold
N
BN DN
$ 1 Py \=
- AV =\ N
[4] “/ [ A§ t/, ,/§ t /..
% SN N N G
% 2%\ N\’ N \/
| y NN AV
Construction o NN I\ %
K& NN NG
N -[1]Body s == N NN
N\ \ - [ 2] Non-return valve . = t
N\ -[3]Piston .
[3] - [ 4] Doser nipple
N
[2]—
11—

We reserve the right to make any modification -1/6- 04/2008



Poligono Ugarte, 15
20720 Azkoitia

+34 943 852 600
+34 943 851 643
ol intza@intza.com

D INTZA

LUBRICATION SYSTEMS

Piston distributors for FLUID GREASE (NLGI 00-000)

Mod. DE02/B  170.150.000
Mod. DEO7/B  171.150.000

Material:
-Brass body.
-Steel doser fitting.

DE(X)/B-0/(X)
T T

Outlet pipe

connection @4 Flow

@ 0,01 cm3

M8x1 DIN2637 @ 0,03 cm3
for fitting + sleeve
@ 0,06 cm3

@ 0,10 cm3

Quick fitting

Connection through

Connection through
M8x1 DIN2637 for quick fitting

fitting + sleeve

o4 B
[LLL]

M8x1

See connection details in page 06

Mod. DE02/C 170.160.000
Mod. DEO7/C 171.160.000

Connection through .
M8x1 DIN2637 for Connection through

. fitting + sleeve quick fitting
Pipe
24 24 TIT
o s 24
L 61— Index | | M8x1
Outlet pipe
connection @4 Flow
o ! 0,1 cm3
—+—Hex.15 @
‘ M8x1 DIN2637 @ 0,2 cm3
for fitting + sleeve
| @ 0,3 cm3
T
© Quick fitting 1' ‘[ 1' | ‘[
Material: M10x1 See connection details in page 06
-Brass body.
-Brass doser fitting.
Mod. DE02/D 170.170.000
Mod. DEQ7/D 171.170.000 Connection through i ah
) M8x1 DIN2637 for ik fitin 9
Pipe fitting + sleeve a 9

ﬁ{ZM

AR
| 61—Index
‘ ~ i Hex.21
2

Material: M14x1,5
-Zamak body.
-Brass doser fitting.

DE(X)/D-0/(X)
T T

Outlet pipe

connection @4 Flow

@ 0,1 cm3

M8x1 DIN2637 | (5) 0,2 cm3
for sleeve + fitting @
0,3 cm3

Quick fitting

g4 TIT
[LLL]

M8x1

See connection details in page 06

We reserve the right to make any modification

-2/6-

04/2008



Poligono Ugarte, 15
20720 Azkoitia

+34 943 852 600
+34 943 851 643
ol intza@intza.com

D INTZA

LUBRICATION SYSTEMS

Manifolds for dosers RF01/B
L1 502.200.000
d2 = DIN 2367
! I
g i | | :
S R A L . @ . rig
b —=%1 | I=
7 o+ 15
= ! = ' 28
L B
L1 L1
Th T!T |4£T‘|ﬁ
% L | L | L | _1 T
Ty - - - - H— —- .
vg =) =3 —5— —3— _ — o |« < |T Fig. 2
b —=%1 | %
7 B g
CH B N — t 28
L B
~ T
o
=2 o .
© z o | < |T Fig. 3
I ——==%1 | Ix
+2 g
! 2.8
d2 L B
S N
TiT TiT _4}_ d2 .E.l
1T
N~ T
© I I =
-
SEETEEY el |-
4 X X X - T Fig. 4
5 SHE B R
| ¥ | L <3 S
< A & } 2.8
d2 L B
Fig. d1 DIN2367 d2 N° of Reference L A H B H1 L1 Material
outlets
] 2 RF01/B-1-402 49 - .
M8x1 pipe B4 M8x1 3 RF01/B-1403 52 17 13 10.5 13 Aluminium
) RF01/B-1-602 52 - 17 13 105 | 13 Aluminium
M10K bive 26 Mgx1 RF01/B-2-602 56 - 20 16 11 17 Steel
X ipe X
PP 5 RF01/B-1-603 65 - 17 13 105 | 13 Aluminium
RF01/B-2-603 73 - 20 16 11 17 Steel
4 RF01/B-1-604 78 - .
1 17 13 10.5 13 Aluminium
5 RF01/B-1-605 91 -
2 RF01/B-1-802 61 -
M14x1,5 pipe @8 M8x1 3 RF01/B-1-803 74 - 20 18 11 13 Aluminium
4 RF01/B-1-804 87 -
2 RF01/B-1-662 58 -
M10x1 pipe @6 M10x1 3 RF01/B-1-663 75 - 20 18 11 17 Aluminium
5 RF01/B-1-665 109 -
8 RF01/B-1-608 130 52
M10x1 pipe @6 M8x1 17 13 10.5 13 Aluminium
10 RF01/B-1-610 156 78
2 ) 6 RF01/B-1-806 113 39 o
M14x1,5 pipe @8 M8x1 3 RF01/B-1-808 139 5 20 18 1 13 Aluminium
M10x1 pipe @6 M10x1 6 RF01/B-1-666 126 68 20 18 11 17 Aluminium
X1 pipe X 5 - - 7 5 uminium
M8x1 pipe @4 M8x1 RF02/B-1-405 62 1 13 10 13 Alumini
3 M10x1 bibe 26 Mexd 5 RF02/B-1-605 65 - 17 13 105 | 13 Aluminium
X1 pipe X RF02/B-2-605 73 - 20 16 11 17 Steel
x1,5 pipe X - 7 - uminium
M14x1,5 pipe @8 M8x1 RF02/B-1-805 4 20 18 » 13 Alurmin
X1 pipe X - 75 7 7 uminium
4 M10x1 pipe @6 M10x1 6 RF02/B-1-666 1 20 18 11 1 Alumini

Application example:

* Aluminium washer @8 Ref. 956.600.002

Washer
Manifold @10 Ref. 956.600.003 ‘m/
* Copper washer @8 Ref. 956.601.002 w
@10 Ref. 956.601.003
We reserve the right to make any modification -3/6- 04/2008



Poligono Ugarte, 15

20720 Azkoitia T z
+34 943 851 643

/B intza@intza.com LUBRICATION SYSTEMS
Piston distributord for FLUID GREASE (NLGI 00-000)

17 17 17 17 17 17 17 Ind
1T Pipe @4 ndex
flow
Outlet
:ﬁ | ]1 ] l ]1 ]1 ] | 11 11 11 11 ] number
:*3.[_L g o s |4 SRIARIE Semd Chomi Eemi Eumil :
e
~  r— r/dh\y 1 /dR\ 1 /dR\ 1O (Y L N~
~| A7E7E 5 §‘___: SAF T o [ S S 8T o [T 5 = =828 ‘S 4
Y Sz S} Q Sz
N a =)
3 9 24 24 17 24 51
48 65 99
2 outlets 3 outlets 5 outlets
VE12/B 170.530.000 VE12/B 170.540.000 VE12/B 170.550.000
VE17/B 171.530.000 VE17/B 171.540.000 VE17/B 171.550.000
; Connection
- - Connection through f
VE Q(_)/B O/C_X_D @ @ @ @ @ Mex1 DIN2637 for through quick

fitting + sleeve itting

Index / Flow

Outlet pipe No. [ out.] out. ] out.T out. T out. a4
connection @4 Outlets| 5 4 3 2 1 @ 0
mx1 binzes] (2) |(O|(%) =5 @ 0,01 cm3 | Mext
for fitting +
= OEEE] =B

(17) Quick fitting @ ®®®®|®|:> %2,?§ Z:z %
|

Order example:

3 outlets distributor with the following flows left to right: 0,10-0,06-0,10cm3 . Material:
Reference: VE12/B-0/3-434 See_; ct_)nnectlon -Zamak body.

To modify the flow change the corresponding outlet fitting. details in page 06 -Steel doser fitting.

See codes in page 06. Index 1 (0,01cm3) cannot be modified.

ﬁ Pipe @4 17 17 17 17 17 17 17
| Index
[T- T] . . flo
6 I 5 6 G 6 "6 6 6 6 6
| 0 o ) i
. Imvi aimivimnlviinnln AN outet
3 || LI LT I oo
9 . <5 50 (|14 5111411113 51114 (1T 3 (T 2 [
S 58 UL LU LU L]
| EZ T T T = " = n n = " = /o= = T
o =8 | éu (T TN A 0
€ [ asRia> Y] JFS 4 < 8
F : -5 HER = s e —1)] 8
S /I [ P @% N - P @% Nl ) a
11 23 315 48.5
15 46 63 97
2 outlets 3 outlets 5 outlets
VE12/C 170.560.000 VE12/C 170.570.000 VE12/C 170.580.000
VE17/C 171.560.000 VE17/C 171.570.000 VE17/C 171.580.000
- - Connection through  Connection
VE @l c-of C_X_> @ @ @ @ @ Méx1 DINZ637 for  through auick
fitting + sleeve fitting
Outlet pipe No. | Outl.| Outl.| Outl. [ Outl. | Outl
connection &4 Outlets| 5 4 3 2 1

(17) Quick fiting ® PP ®|®|::> (6) 0.3cms

Order example:

Index / Flow o4
@ 0 M8x1
peoness (@ |01 2| @oem
sleeve @ ® ® ® :> @ 0.2 oms

3 no outlet doser with the following flows left to right: 0,3-0,2-0,3cm3 1' ‘[

Reference: VE12/C-0/3-656 . N

To modify the flow change the corresponding outlet fitting. See_z connection Material:

See codes in page 06. details in page 06 -Zamak body.

-Brass fitting doser.

We reserve the right to make any modification -4/6- 04/2008



Poligono Ugarte, 15
20720 Azkoitia T z
+34 943 851 643

/B intza@intza.com LUBRICATION SYSTEMS
Piston distributors for FLUID GREASE (NLGI 00-000)

21 21 21
ﬁ Pipe @4
4 Index
M TM (MM M (MM MM gow
| 5 5 5 5 5 54—
| | | | ] 40—
A AT T T T T
| | | | | number
p 3 2 3 2 1 i
0
2 ] T
ZAIE:
8 | | | | |
< %A’i c)\|< § (T: T T N ,': | T T o | c)\|< §
- ] | I 1) —q: 1 I :b_ —
o (] D= (I D o
12 25 25 21
16 50 71
2 outlets 3 outlets
VE12/D 170.590.000 VE12/D 170.600.000
VE17/D 171.590.000 VE17/D 171.600.000
; Connection
- - Connection through f
VE C_X_)/ D-0/ @ @ C_X_> Q Mex1 DIN2637 for  through quick
sleeve + fitting fitting
Outlet pipe No. | outl.| outl] outl. Index / Flow @4
connection @4 Outlets| 3 2 1

@ 0 M8x1
ll\tA)?)f(l:tlr?glng % @ ® ® :‘> @ 0,1 cm3
sleeve @ 0.2 em3

(D) auiekfiting | (3) |()|COICO| = (®) 0,3 cms

Order example:

3 no outlet doser with the following flows left to right: 0,3-0,2-0,3cm3
Reference: VE12/D-0/3-656

To modify the flow change the corresponding outlet fitting. Material:

See codes in page 06. See connection -Zamak body.
details in page 08 -Brass doser fitting.

A je] Je

We reserve the right to make any modification -5/6- 04/2008



Poligono Ugarte, 15
20720 Azkoitia

78 +34 943 852 600
& +34 943 851 643
B intza@intza.com

QINTZA

LUBRICATION SYSTEMS

-Indications on the connection with quick fittings-

Cut the @4 pipe and insert it into
the fitting.

For rigid or metal pipes chamfer
the outer diameter of the pipe to
avoid possible damage to the
O-ring inside the fitting.

Fully insert the pipe until it
reaches the stop at the
bottom of the housing.

©)

To ensure the connection
is correctly fitted pull the
pipe outwards: it must stay
tied up and without moving.

To disconnect press
down the plastic tab
towards the fitting
pulling the pipe at the
same time.

-Indications on the main line connection-

To achieve the correct fitting of the nipples with the doser inlet of the main line connections it is recommended to tie in an inlet
fitting to avoid direct assembly of the nipple on the aluminium body of the doser.

Locking washer ref. Locking washer ref.
956600003 956600004 I
Straight fitting ref. EH&‘ Racor recto ref. 955401181 O o
955401063 for dosers with ]| ] for dosers with inlet thread
inlet thread M10x1 M12x1
mw OEEE 0w olget]
Technical characteristics
Lubricant ........ccevveeenneee. Synthetic and mineral oils
Fluid Grease NLGI 00-000
Working pressure .............. sizes B-C: 13 + 45 bar
size D: 20 = 45 bar
Pressure relief ........cccccceeeeennee.e. sizes B-C: <3 bar
size D: <10 bar
Working temperature ... .. +10°C + +70°C
Gasket material............coccvveeeeiiieiieeieeceeeeee FPM
Spare parts doser nipples
Index Flow DE02/B DEO07/B DEO02/C DEO7/C DE02/D DEO07/D
VE12/B VE17/B VE12/C VE17/C VE12/D VE17/D
0 0cm3 171.065.000 | 171.065.000 | 172.000.000 | 172.000.000 | 173.000.000 | 173.000.000
2 0,03 cm3 171.075.003 171.475.003
3 0,06 cm3 171.080.006 171.480.006
4 0,10 cm3 171.085.010 171.485.010 172.085.010 172.485.010 173.085.010 173.485.010
5 0,20 cm3 172.090.020 172.490.020 173.090.020 173.490.020
6 0,30 cm3 172.095.030 | 172.495.030 | 173.095.030 | 173.495.030

We reserve the right to make any modifications

-6/6-

04/2008



	ENG_1
	ENG_2
	ENG_3
	ENG_4
	ENG_5
	ENG_6

